RETAN #at RAWEEL o1

1. THROEFGIZOWTRIZEZ X, (S50, A1 308, Bfk2330%, C#kasy)

(1) BE:EC=2:1D&¢Z, AP:PQ:QC ko k.

(2) BE:EC=1:1, CF:FD=1:10t%, BP:PQ:QD #k& X.
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(3) AE:EB=1:2, CF:FD=1:2Dt %, AP:PQ:QF Ko k.
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2. THRIOEABIZOWTHICEZX. (SH1720, Afk2520%, B#k3 5408, CHs55)

(1) BE:EF:FC=1:1:1D& %, AP:PQ:QC Zxko k.

(2) AE:EB=1:1, BF:FC=2:1D% %, AP:PQ:QC ko k.
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(3 AE:EB=2:1, CF:FD=1:1 D%, EP:PQ:QD %#k® k.
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RHTFAS @9tk RAMEELL 01 RERSH

1. THROEFGIZOWTRIZEZ X, (S50, A1 308, Bfk2330%, C#kasy)

(1) BE:EC=2:1D&¢Z, AP:PQ:QC ko k.

e BRI O HA T = AT
APDA » APBC = AP:PC=0®:®=1:1
AP = 3AC PC=3AC
AQDA » AQEC = AQ:QC=0:0=3:1
P AQ=3AC QC=l1AC

- - > S. AP PQ: =1i.23-LH.:1=2:1:1 -&Z
B tteee... @ ________ E.__@_,C Q QC 2 (4 2) 4 2 A

(2) BE:EC=1:1, CF:FD=1:1D&t %, BP:PQ:QD ko k.

K EHRXITE D HEAN L = 14T

“A APDA» APBE = BP:PD=0:@=1:2
BP=1BD PD=2BD

AQAB» AQFD = BQ:QD=A:A=2:1

X A S. BQ=2BD QD=1BD

B @ B @ S BP:PQ:QD=1:((-4):i=1:1:1 --&FX

(3 AE:EB=1:2, CF:FD=1:2Dt%, AP:PQ:QF ko X.

K ERRXIE D HA L = AT

APAE v APFD = AP:PF =
AP = {AF PF = ZAF

AQAB» AQFD = AQ:QF=1:2=3:2
AQ=3AF QF = 2AF

1.2 _1q.
1:2=1:2

AP:PQ:QF=1:(2-3):2=5:4:6 -—&X
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2. THRIOEABIZOWTHICEZX. (SH1720, Afk2520%, B#k3 5408, CHs55)

(1) BE:EF:FC=1:1:1D& %, AP:PQ:QC Zxko k.

A et Qe D KGO WA = fa T
APDA :»» APEC = AP:PC=®:®=3:2
AP =2AC PC=:2AC
AQDA A AQFC = AQ:QC=@:®=3:1
A S AQ=3AC QC=jAC
Q
- > S AP:PQ:QC=2:(3-2):1=12:3:5 -&Z
B x\@__.E.._@_‘.F‘.__@_, C 5 4 5 4

(2) AE:EB=1:1, BF:FC=2:1 D%, AP:PQ:QC Zxk® k.

e — A, D KRB 0 HEA (3 = Fa

: 5 APAEXA» APCD = AP:PC=Q0Q:@=1:2

@ > i S AP =3;AC PC=3AC

E; o) AQDA » AQFC = AQ:QC=A:A =31
® S AQ=3AC QC=1AC

'.“ Q .:

B A F A C SOAP:PQ:QC=1:(3-1):1=4:5:3 -&EX

(3) AE:EB=2:1, CF:FD=1:1Dt %, EP:PQ:QD %Zxk®d k.

K ARG DA =T

APAE» APCD = EP:PD=2:1=2:3
EP =2ED PD=2ED

AQAE «» AQFD = EQ:QD:%:%:4:3
EQ=21ED QD= 2ED

EP:PQ:QD:%:(%—%):%:14:6:15 B
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